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1. Introduction

During the Study Item period of E-DCH, we have seen that HARQ is one of prominent enhanced feature of E-DCH in improving link efficiency. From the experience from HSDPA, we learnt that stringent requirement for ACK/NACK signaling has requested large UE transmission power. In this sequel, it is remained to be seen how much E-DCH related signaling for Uplink Enhancement would cause impact on downlink capacity. 

In this contribution, we propose a cheaper way of sending ACK/NACK signaling than one we had for HSDPA.

2. Overall Downlink signaling for EUDCH

In order to examine the overall downlink overhead of E-DCH, we can compare the signaling information and the requirement of E-DCH and HS-SCCH as shown in the Table 1. In this comparison, we assumed the shared downlink physical channel (namely E-SCCH) even though there are other possibilities of having dedicated channels. From the table, 

· For the case of combination of 2ms TTI and Time & Rate scheduling, one can see that requirement on downlink could be quite comparable to that of HS-SCCH if ACK/NACK reliability requirement is high.

· For the case of combination of 10ms TTI and Rate scheduling case, we may have more number of simultaneous transmitting UE than R &T scheduling. Also Rate Grant (RG) may have less stringent error requirement hence, HARQ ACK/NACK transmission would dominate the node B transmission power. 

Therefore we can see that for both cases of Rate Scheduling and Time & Rate Scheduling, ACK/NACK transmission power will have impact on downlink capacity than scheduling signaling.

Table 1 Comparison of HS-SCCH and E-SCCH

	
	TTI
	Target error rate
	Information bits
	Number of UE
	

	HS-SCCH
	2ms
	1e-2


	21 bits
	Num of scheduled UE
	

	E-SCCH


	2ms
	1e-3 or 1e-4 (ACK)

1e-2 (SA)

 
	1(ACK) + 8 (SA)

= 9 bits
	Num of scheduled UE + minimum TFC transmission
	Rate & Time scheduling [1]

	
	10ms
	1e-3 or 1e-4 (ACK) 

1e-2 (RG)


	1(ACK) + 1(RG)

= 2 bits
	Up to the num of all EUDCH served UE

e.g. 40
	Rate scheduling [2]


3. Time diversity signaling

Some signaling schemes to reduce the transmission power for ACK/NACK are explained below.
Baseline – No Diversity Gain.

The ACK/NACK command is sent as 10 symbols in the first slot each the TTI.  For example, for the sequence [ACK NACK ACK NACK] the information would be organized as follows:

	
	Slot 0 TTI 0
	Slot 0 TTI 1
	Slot 0 TTI 2
	Slot 0 TTI 3
	Slot 0 TTI 4

	I
	AAAAAAAAAA
	NNNNNNNNNN
	AAAAAAAAAA
	NNNNNNNNNN
	

	Q
	AAAAAAAAAA
	NNNNNNNNNN
	AAAAAAAAAA
	NNNNNNNNNN
	


Option 1 Time Diversity ACK/NACK signalling

The ACK/NACK command is sent as the first 5 symbols in first slot of TTI n and last 5 symbols in first slot of TTI n+1.  For example, for the sequence [ACK NACK ACK NACK], where A = ACK, N=NACK and U = Unknown, the information would be organized as follows:

	
	Slot 0 TTI 0
	Slot 0 TTI 1
	Slot 0 TTI 2
	Slot 0 TTI 3
	Slot 0 TTI 4

	I
	AAAAAUUUUU
	NNNNNAAAAA
	AAAAANNNNN
	NNNNNAAAAA
	UUUUUNNNNN

	Q
	AAAAAUUUUU
	NNNNNAAAAA
	AAAAANNNNN
	NNNNNAAAAA
	UUUUUNNNNN


Option 2 Time Diversity ACK/NACK signalling

The ACK/NACK command is sent in the odd symbols in the first slot of TTI n and the even symbols in the first slot of TTI n+1 (counting symbols 0-9).  For example, for the sequence [ACK NACK ACK NACK], where A = ACK, N=NACK and U = Unknown, the information would be organized as follows:

	
	Slot 0 TTI 0
	Slot 0 TTI 1
	Slot 0 TTI 2
	Slot 0 TTI 3
	Slot 0 TTI 4

	I
	UAUAUAUAUA
	ANANANANAN
	NANANANANA
	ANANANANAN
	NUNUNUNUNU

	Q
	UAUAUAUAUA
	ANANANANAN
	NANANANANA
	ANANANANAN
	NUNUNUNUNU


Repetition

Each ACK/NACK sent in the first slot of TTI n and the first slot of TTI n+1.  This is the method that has been introduced for HSDPA.  The repetition of bits results in higher bit energy at the receiver but this is at the expense of user throughput.

For example, for the sequence [ACK NACK ACK NACK], where A = ACK, N=NACK the information would be organized as follows:

	
	Slot 0 TTI 0
	Slot 0 TTI 1
	Slot 0 TTI 2
	Slot 0 TTI 3
	Slot 0 TTI 4
	Slot 0 TTI 5

	I
	AAAAAAAAAA
	AAAAAAAAAA
	NNNNNNNNNN
	NNNNNNNNNN
	AAAAAAAAAA
	AAAAAAAAAA

	Q
	AAAAAAAAAA
	AAAAAAAAAA
	NNNNNNNNNN
	NNNNNNNNNN
	AAAAAAAAAA
	AAAAAAAAAA


Figure 1 and 2 show the link level performance with the case of no-repetition, option 1 and option2. As we can see from these figures, with option1 and option2, the required SIR is reduced by at least 0.5 dB at BLER of 10-3 and lower. 
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Figure 1 : Pedestrian B Channel Model with 2ms TTI
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Figure 2 : Pedestrian B Channel Model with 10ms TTI
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Figure 3 : Vehicular A Channel Model with 2ms TTI
[image: image4.emf]-12 -11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2

-6

-5.5

-5

-4.5

-4

-3.5

-3

-2.5

-2

-1.5

E-CCH SIR Target [dB]

log10(BER)

Velocity = 30.00 km/h, TTI = 15 slots

BASELINE

OPTION 1

OPTION 2

REPETITION

REPETITION HALF


Figure 4 : Vehicular A Channel Model with 10ms TTI
4 Conclusion

In this contribution, we firstly considered the downlink signaling of Enhanced Uplink for two major scheduling approaches and found that ACK/NACK signaling may consume non-negligible downlink capacity. Henceforth we presented a solution giving additional SIR reduction of 0.5 dB for all cases examined in this contribution. Note that 0.5 dB gain can be seen as 10% reduction of ACK/NACK transmission power in downlink. Also we should note that the uplink peak rate will kept intact which is advantage over repetition scheme.

Table 2: comparison of ACK NACK transmission schemes
	
	Number of symbols per ACK/NACK 
	Transmit time period
	Total energy of one signal
	Diversity gain
	UL peak rate
	Performance

	Conventional
	N
	TTI
	E
	G
	R
	Reference

	Time Diversity
	N
	2TTI
	E
	~2G
	R
	At least 0.5 dB smaller

	Repetition
	2N
	2TTI
	2E
	~2G
	R/2
	3.x dB smaller

	Repetition with half power
	2N
	2TTI
	E
	~2G
	R/2
	At least 0.5dB smaller


Furthermore the same proposed technique can be applied to other binary signaling such as rate grant message for node B controlled Rate Scheduling. 

The text proposal for TR25.808 is attached below, in which the physical channel structure is assumed based on [1]. 

Reference

[1] R1-040534, “Downlink signalling performance”, Nokia, 
[2] R1-040455, “New shared code channel with TDM”, Motorola
Text Proposal TR25.808:

[image: image5.emf]8 .2   Physical Channel Structure for Control Signalling    8.2.1 Downlink signaling     The E - SCCH carries downlink feedback signalling related to uplink E - DCH transmission. The E - DCH  related signalling consists of HARQ Acknowledgement (HARQ - ACK) and Rate Grant ( RG).     Each frame of length 10 ms  (2ms)  consists of 15 slots.  Signal l ing for multiple UEs is multiplexed on a  same shared code channel with spreading factor 128 by allocating 40 bits long Hadamard sequences to  identify and carry signal l ing for each UE (i.e.  code multiplexing).  Separate code channels are used to carry  HARQ ACK and RG with using the same Hadamard sequence for one UE.      Each frame contains the latest  R  HARQ - ACK from  HARQ - ACK(n)  to  HARQ - ACK(n - R) , where  HARQ - ACK(n)  is the HARQ - ACK corresponding t o the last TTI in which a transport block has been  received. Each HARQ - ACK is transmitted in the sl ot derived from the following r u les.    -  The  HARQ - ACK(n)  is transmitted in the slot number  (R* m)     -  The  HARQ - ACK(n - 1)  is transmitted in the slot number  (R*m+ 1)   …   -  The  HARQ - ACK(n - R)  is transmitted in the slot number  (R*m+R)   , where  m  is the integer from  0  to 
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14

.      E ach frame contains the latest R RG from RG(n) to RG(n - R), where RG(n) is the latest RG signalling.  Each RG is transmitted in t he sl ot derived from the following r u les.    -  The RG(n) is transmitted in the slot number (R* m)    -  The RG(n - 1) is transmitted in the slot number (R*m+1)   …   -  The RG(n - R) is transmitted in the slot number (R*m+R)  


Appendix: Simulation assumption

Table 1 Simulation assumptions

	Number of ACK/NACK symbols per TTI
	10 

SF=256

	TTI
	2 ms/10ms

	TPC
	On, 1 slot update, 1 dB step

	Channel estimation
	Ideal

	Path model
	1. Pedestrian B.  Six paths with relative powers [0 -0.9 -4.9 -8.0 -7.8 -23.9] dB, velocity 3km/h
2. Vehicular A.  Six paths with relative powers of [0 -1 -9 -10 -15 -20] dB, velocity 30km/h.

	Simulation duration
	750,000 TTIs
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Physical Channel Structure for Control Signalling 

8.2.1 Downlink signaling


The E-SCCH carries downlink feedback signalling related to uplink E-DCH transmission. The E-DCH related signalling consists of HARQ Acknowledgement (HARQ-ACK) and Rate Grant (RG).


Each frame of length 10 ms (2ms) consists of 15 slots. Signalling for multiple UEs is multiplexed on a same shared code channel with spreading factor 128 by allocating 40 bits long Hadamard sequences to identify and carry signalling for each UE (i.e. code multiplexing). Separate code channels are used to carry HARQ ACK and RG with using the same Hadamard sequence for one UE. 


Each frame contains the latest R HARQ-ACK from HARQ-ACK(n) to HARQ-ACK(n-R), where HARQ-ACK(n) is the HARQ-ACK corresponding to the last TTI in which a transport block has been received. Each HARQ-ACK is transmitted in the slot derived from the following rules. 


- The HARQ-ACK(n) is transmitted in the slot number (R* m) 


- The HARQ-ACK(n-1) is transmitted in the slot number (R*m+1)


…


- The HARQ-ACK(n-R) is transmitted in the slot number (R*m+R)


, where m is the integer from 0 to 
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Each frame contains the latest R RG from RG(n) to RG(n-R), where RG(n) is the latest RG signalling. Each RG is transmitted in the slot derived from the following rules. 


- The RG(n) is transmitted in the slot number (R* m) 


- The RG(n-1) is transmitted in the slot number (R*m+1)


…


- The RG(n-R) is transmitted in the slot number (R*m+R)


, where m is the integer from 0 to 
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